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—Xg SXH ¥ =2l 3,000,000& 3,000
- g S¥= 1,000, 000& 1,000
AE=2H0IEA XA 73,600 64,000 9,600
= 51,520
Al 11,040
- 11,040




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 73,600 64,000 9,600
2 51,520
Al 11,040
- 11,040
02 P HAMHEE 73,600 64,000 9,600
OA2Z=2H0/8A XA 73,600,000& 73,600
= 51,520
Al 11,040
- 11,040
AT R8s XA 15,000 15,000 0
301 et a = 15,000 15,000 0
12 JIEE4 3 15,000 15,000 0
OHMeN=E =8+ XA 15,000, 000& 15,000
FUMSHAH HSAE 29 994,749 839,284 155,465
308 XtXIEHHSOIA 812,499 768,058 44,441
10 SII 2 SOICHEHE & X 2 EF AL I 812,499 768,058 44,441
O=2NsdH 29 812,499,000 812,499
401 A& HIZ 201 Y| 146,000 44,000 102,000
01 A& HI 146,000 44,000 102,000
O=CUNSHE =3 Al 80,000,000& 80,000
OAJE=DZ EtA SEZA 22,000,000& 22,000
OU=ZM=s2 =LSHM HOE 25 SA
22,000,000 22,000
OJIHA W SSadIM ZHUEX JsSHESA
22,000,000& 22,000
405 XtatE SHI 36,250 27,226 9,024
01 AR ESFH S 36,250 27,226 9,024
O=gxsdH 235 *¢ 36,250
—&HE HSOI 1,900, 000& = 1CH 1,900
— =3 FaJl 6,000,000 = 1CH 6,000
—3FH &€ 2UH 850,000& +3[H 2,550
— OtOId A (ADIAMHA) 3,800,0009 «1CH 3,800
— & &S EH| 22,000,000& =1 CH 22,000
HER2SEIR 29 712,700 710,700 2,000
Al 200,000
T 512,700
27 HEF2SEIR N 712,700 710,700 2,000
Al 200,000
T 512,700
201 Let24E] 3,500 3,500 0
01 At 22l 500 500 0
Oget=&H| 500




SN ERHSTE
Yy P0SHAS S48 2 X8
©el: NRSSHIR 2% (el @ e)
SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
S E=LF 500,000 500
02 222l 3,000 3,000 0
OXNPHSU(HZREH L FHIKXH)
3,000,000 3,000
301 YA 707,200 707,200 0
Al 200,000
- 507,200
0sEe - 2SRSENE 707,200 707,200 0
Ol 460,000
—2S1Y, XY, S48 Q1A
460,000,000 460,000
Al 200,000
= 260,000
o 185,200,000 185,200
OUBI &It ¥ Laeaa 62,000,000 62,000
405 X+ &3 S| 2,000 0 2,000
01 Mtarg 225 S| 2,000 0 2,000
ONFRSEYIL 25 2 2,000
—2AxI| P 2,000,000 2,000
MSAL =5 42,700 42,700 0
MSAE 25 2 22 42,700 42,700 0
201 Yet2 | 15,700 15,700 0
01 At 22l 3,700 3,700 0
Oger+ g 3,000
—HMSAS 2SS 2Y 3,000,000 3,000
osg+g 700
—MSIEIS VAR BELY
70,0008 *52 23] 700
02 ZZ 2l 12,000 12,000 0
0Z222 ¥ A 12,000
—HSAE 25 2223 2 MAl
1,000,0002! * 12 12,000
206 T 2t 2,000 2,000 0
01 MZHl 2,000 2,000 0
2EY 43 S 2Y 10,0002 +200% 2,000
401 A& HI L 2O bl 25,000 25,000 0
01 A&l 25,000 25,000 0
OBU MBANE STUL2 25,000,000 25,000




